SOUTH WESTERN RAILWAY
Divisional Office,
Personnel Branch,
Mysuru 570001,
No. Y/P.608/1/Conf/JE-P.way/24 Dated: 20-02-2025.

NOTE

Sub : Selection for the post of Junior Engineer/P.Way in level-6 against
20% LDCE quota in Engineering Department, Mysuru Division —
CBT held on 20-02-2025
Frkdkdk
The Computer Based Test in connection with the selection for the post of Junior Engineer/P.Way
in level-6 against 20% LDCE quota in "Engineering Department, Mysuru Division was conducted at
14.00hrs of 20-02-2025 at ATPPL, (ADITHYA TECH PARK PRIVATE LIMITED), 9H76+PQ9,
KIADB ROAD, KOORGALLI, ANAGAHALLI, Mysuru-571606. 104  employees have attended the
CBT.

The question paper along with answer keys of the CBT ( held on 20-02-2025) for the post of
Junior Engineer/P.Way in level-6 against 20% LDCE quota in Engineering Department, Mysuru
Division is uploaded in swr.indianrailway.gov.in>About us>Division>Mysore>Personnel Branch>
Question Bank> JE/P.way/LDCE-QP&Answer key-Objection Note.

104 employees, who have attended the written examination held on 20.02.2025 for the post of
Junior Engineer/P.Way in level-6 against 20% LDCE quota in Engineering Department, Mysuru
Division and whose names furnished in the enclosed list may submit their suggestions, if any
regarding answer key along with the self attested documentary proof through their personal e-mail
id to cgasectionmys@gmail.com on or before 18.00 hrs of 25/02/2025 . The employees, who are
uploading their suggestions in regard to answer key should specifically indicate question number in
the question paper. The employees, who are uploading their suggestions in regard to the answer key
should address their suggestions to Sr.DPO/Co-ord/MYS duly furnishing the undermentioned
particulars with the uploading of the self attested copy of the documents.

Name, Number of the | Answer as per | Revised answer | Authority Number of
Designation question and | the key | as per | under pages in the
and Station the heading | answer employee which " | document
under which | uploaded suggestion revised uploaded in
question answer is | support of
appears suggested | revised answer
suggested

- Suggestions uploaded without the above particulars will not be considered for examination. On
no occasion, employees should utilize this platform to express their experience regarding the CBT. It
should be restricted only to upload suggestions to answer key with documentary proof.

Employees listed in the enclosed list, who have attended the CBT for the post of Junior
Engineer/f.’.Way in level-6 against 20% LDCE quota in Engineering Department, Mysuru Division
are only eligible to submit suggestions, if any through personal e-mail id on or before 18.00 hrs of
25.02.2025. s

Encl: 1. List of employees
2.Question paper with key answers in 28 pages .
N-$ ?’»’L._
20lon”
(VISHNU GOUDA)
Sr. Divisional Personnel Officer (Co-ord),
South Western Railway, Mysuru

Copy to: Employees through their
Supervisory Officials

SOUTH WESTERN RAILWAY



02/2025 IN CONNECTION

L ON 20 0,
\»;ISTTHQ;;S%EL%%S'NWF%% ﬁug:Ep ’ISTENDggN’II‘gg gsglgggg p,WAY IN LEVEL-6 AGAINST 20%
LDCE QUOTA IN_ENGINEERING DEPARTMENT, MYSURU DIVISION
"SI [ NAME PF No, Designation/Station
?0' AJAY KUMAR MEENA 42529802500 TM-IV/MYS
2 KUNDAN KUMAR 42629801124 TM-1V/SMET
3 MADHESH 42629801055 TM-111/SMET
4 JITENDRA KUMAR 42629801412 TM-111/SMET
5 BRAJESH KUMAR HARSH 42629801244 TM-I11 /SMET
3 KRISHNAN.P. 42613D00158 TM-1I/SMET
7 MUKESH KUMAR 42629801400 TM-I11 /SMET
8 JITENDRA KUMAR 42629801053 TM-IT/KVGL
9 MANJUNATH MALLIKARJUN 42629801073 TM-IV/KVGL
10 | RAKESH KUMAR SHAH 42612D00700 TM-I1/YDK
11 CHANDAN S P 42629801974 WELDER-III/MYS
12 MANJESH KUMAR B.R 42613D99984 TM-IIT/NTW
13 | SHIVASHANKARAN 42629800462 M-I /NTW
14 | HAREESH.S 42629800308 TM-II/NTW
15 | BALACHANDARM.S 42629800129 TM-IV/MYS
16 GOGULAMUDI POLAIAH 42614D00011 TM-1/MOMU
17 | YAPULLAIAHGARI SATHYANNA 42629801107 TM-IV/MOMU
18 RAJKISHOR KUMAR 42629801271 M-I /MOMU
19 SUBHASHCHAND KUMAWAT 42629801046 TM-ITI/SHV
20 SANDEEP KHARB | ' 42629800959 | r sy
21 MD ASLAM ANSARI | 42629801025 TMIII/SHV
22 [ ANIL KUMAR 42629801043 TM-II1/SHV
23 H M MOHAN YADAV 42629800968 TM-II/SHV
24 | JITENDRA CHOUHAN 42629801914 TM-I1I/SHV
25 PURUSHOTHAM KUMAR 42629800946
CHOWDARI TM-III/SHV
26 PRAKASH.M. 42613D00413 TM-1I/SHV
27 SANDESH.S 142629801163 TM-III/SHV
{28 IRANNA SHILLI 42629801165 TM-1I/SHV
29 [ ARSHAK ADILSHA C 42629800936 TM-II/SHV
30 RAVIKUMAR SINGH 42629801027 TM-111/SHV
31 GULSHAN KUMAR 42615D00288 TM-I1/SHV
32 SUBIN.S. 42629801001 TM-II/SHV
33 JAGALAGOND NANDAPPAGOL 142629801159 TM-III/SHV |
37 S SHANKAR ‘ : 42529800658 | 11 1v/pANp
35. | CHANDRASHEKAR CHUKKA 42613D99998 TM-IV/MNGT
36 VIVEK KUMAR KUSHWAHA 42529802499 TM-IV/NHY
37 AUNISH ANAND 42529802551 TM-IV/MYS-Y




SL NAME ‘| PF No. Designation/Station
e KUMAR 42520802502 TM.IV/BDRL
39 | SANJAY KUMAR 42529802527 TM-IV/MYS-Y
40 | AJEET KUMAR 42529802604 TM-IV/PANP
41 PRANABH P S 42529802440 TM-IV/MNGT
42 | ANAND KRISHNA N S 42529802509 TM-IV/MYS
43 | CHETAN KUMAR K 42629801983 WELDER-II/MYS
44 | RAJIVKUMAR 42629801303 TM-II/TTR
45 | SURAJ KUMAR 42629800915 TM-II/TTR
46 | CHIDANANDAMURTHY 42612D99987 TM-I/TTR
47 | BHEEM SINGH 42629801304 TM.II/TTR
48 | AJAY YADAV 42629801425 | 1y 1v/TTR
49 | SHASHIDHARA N.B 42529800623 TM-IV/TTR
50 | SHIV SHANKAR UPADHYAY 1742629800965 TM-IV/ASK
51 PAPAI HALDER 42629800905 | v ASK
52 | KUNDAN KUMAR' 42629801049 TM-IV/TTR
53 | JAYAPPA.R 42604512456 TM-I/TTR
54 | GAUTAM KUMAR 42629801417 TM-II/TTR
55 | NITISH KUMAR 42629801170 IM-IV/TTR
56 | ROSHAN RAJPOOT 42629801411 TM-III/SMET
57 | RANJEET KUMAR 42629801219 M-Il /SMET
58 | ABHISHEK KUMAR 42529802505 TM-IV/PANP
59 | MANJUNATHAHM | 42612D00420 TM.1/DVG
60 . | S:M.VIJAYAKUMAR 42612D01151 TM-II/DVG
61 | SANTOSH KUMAR .M.B. 42613D00279 TM-III/DVG
62 | RAGHAVENDRA S 42429803505 TM-IV/DVG
63 | SREEKANTHA K 42612D00412 TM-1/DVG
{64 | PARASAPPAB. | ) 42629800573 TM-IV/DVG
65 SIDDAPPA GHOOLAPPANAVAR = | 42629800457 TM-IV/DVG
66 | ANIL 42629800892 TM-IV/ASK
67 | PRIYESH. T 42629801313 TM-IV/ASK
68 | ZENIL MUHAMMED E 24511190540 TM-IV/ASK
69 | MANISH ARYA POONIYA 42629801052 TM-IV/ASK
70 | AKHALESH CHOURIYA 42629801125 TM-III/ASK
71 | ARJUNU P , 24511190537 TM-IV/ASK
72 | VISHNU DEV SINGH _ 42629800898 | m\1v/ASK
73 SAURABH KUMAR 42629800989 TM-IV/ASK
74 | RAHUL KUMAR 42629801294 TM-III/ASK
75 GAURAV KUMAR 42629801344 TM-III/ASK
76 DEEPAK KUMAR RAM 42629800961 TM-III/ASK
77 - | ABHAY KUMAR 42629801309

TM-IV/ASK




SL NAME PF No. Designation/Station
’I;g [ SHIBU. © 42629800948 TM-111/ASK
79 RAHUL 42629800883 TM-111/ASK
80 SUNNY KUMAR PANDEY 42629801341 TM-IV/ASK
81 VIBHUTI KUMAR 42629800967 TM-I11/ASK
82 RAVI RANJAN KUMAR 42629800884 TM-111/ASK
83 PARASHURAM JALI 42429801416 TM-111/RNR
84 TANSUKH 42629801050 TM-IV/RNR
85 PRAVEEN NAGAVAND 42629800452 TM-I11/RNR
86 ANJANEYA.TUMMINAKATTI 42615D00040 TM-111/RNR
87 SUDHIR KUMAR 42629801084 TM-IV/RNR
88 RAJESH KUMAR 42629801179 TM-IV/RNR
89 ABHISHEK GAURAV 42629801151 TM-I11 /RNRG
90 SALIMALI KARADI 42613D00470 TM-II/RNR
91 ABHILASH K A 42629801224 TM-IV/KBPR
92 ATHUL V 42629800996 TM-IV/NRJ
93 ROSHAN.T. _ 42629800160 TM-IV/KBPR
9% TARACHAND MEENA 42629801082 TM-IV/SBHR
95 SHAMILT C 42629801060 TM-IV/KBPR
96 MUHAMMED NISHAD S 42629800995 TM-IV/NRF
97 MUHAMMED SAEED K. 42529801952 “TM-IV/KBPR
98 AMAL MOHAN. M 42629800921 - TM-IV/KBPR
99 ABHUJITH K K 42429803020 TM-III/KBPR
100 | PAVAN KUMAR K | 42429803025 TM-III/KBPR
101 | SHIBINAK 42629801189 TM-IV/KBPR
102 | RAVINDRA G S 424N1350543 TM-II/HAS
103 [ KRISHNA NAYAKN 42429803159 TM-IV/HAS
104 | SUDHARASHAN H.S . 42629800473 | T™-111/HAS




Junior Engineer /P.way in Level 6 20% LDCE in Engineering Department Department

South Western Railway
CBT TEST QUESTION

Test Name Junior Engineer/P.way in Level-6
Test Date 20-02-2025
Duration (In Minute) 120
Venue Name ATPPL (ADITHYA TECH PARK PRIVATE LIMITED)
Total number of Employees attended 128
Total Mark 100

Test Conducting Officer Name

Test Conducting Officer Designation

Question paper prepared officer name

Question paper prepared officer designation

Question paper prepared officer mobile

Question paper prepared time
Selected Set For Test

Sno. Question

What is the the indication used after a rail defect of 'IMR' type is
detected?

'IASTHIR YbR P I aIN B Udl Id- & dic a1 Hebd [T Sidl g2
MR’ B5REOOD Byen BatR B3R S0IT WHRIE RS DI?

Language Option A Option B Option C Option D Correct Answer

Eng/Hindi/Kanna

What type of fastenings are used in Plain track?
H ¢ | 59 ydR & wrefHn o1 3udn faar s g2
B¢ 63957553, 03593 DL BRBHBRPI, WEPARTIM.

Language Option A Option B OptionC Option D Correct Answer

Rigid fastenings Elastic fastenings All of the above Elastic fustenings

Eng/Hindi/Kanna 61 e A AT A RIRMEE ] FR & gl R %A
gy @0 ehatmmniel | it datass ASmRET datdinine S werade ST P AATIOR

Rail free fastenings




Steel channel sleepers are used at which of the below mentioned

locations?

e e WIlUR| BT ST - Sfeaiad Rl H 3 o uR fepa

STl 82

2 FYNT Al A PNYS). ALy FoJes* ALTO RS, wFReTM:

Language Option A Option B Option C OptionD Correct Answer
Yards Plain track Bridges All locations Bridges
Eng/Hindi/Kanna| 0TS Tel o it ol = el
Resnied A0 oo I SCATATALA e, AFNE Acadne
What is the Length of normal PSC Sleeper(in mm)?
e dheardt wiiwR ot darg (@ #) ot g2
AOeoNs PSC A LBOS e0T3, dEd),, (el S )?
Language Option A Option B Option C OptionD Correct Answer
1676 mm 2500 mm 2750 mm 3000 mm 2750 mm
Eng/Hindi/Kanna| 1676 [ 2500 it 2750 fireft 3000 fidl 2750 foeft
1676 ¢0.e¢, 2500 630,600 2750 o0, 3000 639.603¢ 2750 6.6,
What is the value of gauge obtained on a normal PSC sleepers?
A eeRe weflo’d or ure 31 &1 71 @ 22
A5 PSC ALBOTF ) BRI NS a0 odeRd,?
Language Option A Option B OptionC Option D Correct Answer
1670 mm 1673 mm 1676 mm None 1673 mm
Eng/Hindi/Kanna| 1670 it 1673 firedl 1676 fiel P el 1673 il
1670 23,68 1673 a3.:00¢. 1676 3.e23€. ObwadEe Be), 1673 23,23t
For ballast supply on B.G. route, the maximum permitted aggregate
abrasion valueis .
dfioll arf R et smyfd & fore, siftean Wied qw ayo g
I
223 SINETE), DeNLIDTT RT,BMON, NOR, 9305DIREDT 2.
P esNT.
Language Option A Option B OptionC OptionD Correct Answer
10% 20% 30% 60% 30%
Eng/Hindi/Kanna| 10% 20% 30% 60% 30%
10% 20% 30% 60% 30%




If the retention of ballast on 65 mm sieve is less than 5%, then
which of the following condition id correct? (for machine crushed

stone ballast)

afe 65 it sa-t w gt 3t sraurvr 5% I w0 B, O Fufafaa 3
Y@l 9 Rufa agl g2 (== gaa ver gl & for)

? 65 0RO BBRBONE). DENLITE PoTEIE) 5% 3,03 TEANWD, <
o303 A3 BDANGE? (003 DBTIRRE TS DENIVTT,)
Language Option A Option B Option C Option D Correct Answer
Eng/Hind/Kanna S rivsisuss o R e %&ﬁ"&i )
The condition for Percentage of retention of machine crushed stone
ballast exceeds 70%on 40 mm sieve is
40 forft Sa- v w=i= Faa ger Mgt & ufdyro o ufdrd 70% 4
3ifdep gl @I =rdl ¢
8 140 QeI BOBOHE). ADOIIE WBRBVRE TS DCNLIVVE HITEIR
Fyedecded) 70% 3,08 23,03 A 803N
Language Option A Option B Option C Option D Correct Answer
The condition for Percentage of retention of machine crushed stone
ballast above 10% on 65 mm sieve is
65 fordt it wr A=fF O Srac U ueRR gl & 10% 9 siftie s@urur
& yfrra Bt = ©
9 [65 ededdC 2TLODE). 10% 3,03 23,35 D03 BB TE) S DENLDTT
o080 T BRI WOIY,
Language Option A Option B Option C Option D Correct Answer
rex Nanz of the above
Eng/Hindi/Kannal:= F’:iﬂ :“T: Zﬁf:ﬁ ::f::if“ -
The condition for Percentage of retention of machine crushed stone
ballast Less than 98% on 20 mm sieveis  ?
20 oy} Ba-t R A=fi9 $9d yer [ & ufauror o1 ufa=rd 98% 4
DABHPIAA o7
10 |20 0O 2BRODE). 98% 3,03 TBD 9B ODOI) RW)RBTIVRE T

DNV POV HT ool A8 ?

Language Option A Option B Option C Option D Correct Answer

Stack shall be repectesd Nm_w F‘ﬁ.he whows e

b R 37E 20 T‘ﬂg it gl gva fo e
AP R e, AdH R E:

SO almdee eaey, | = LTI

Eng/Hindi/Kanna

Srter, ] 0 1 ), Al it




11

[SRIEIRE ]I

assessing the quantity

W14 YAt & e sraggs Mgt & A &1 sidbad dIdb HJHH

The ballast required for maintenance purposes shall be estimated by

e3E BP0 B LINPMON 9N8;5eI0de3 eN2ZITe3), &3jedI0ededadd, MEDE CIIAIES
FNROT IOV VHBEIITHI

Language

Option A

Option B

Option D

Correct Answer

Eng/Hindi/Kanna

None of the above

et | AT R

SO admadicie eaey,

While unloading BT, the rake shall be moved in
dIdl IdRd quy, 3 @1 o = S

293 9RO, BET* 9, Je) A F203DAWH
12
Language Option A Option B OptionC Option D Correct Answer
One direction only Mo backing of roke No work after sunset All of the above All of the above
Eng/]—[indi/l{anna 3’}‘:{?[ Uds Ic‘{'«'IT T I PG T el I & 4G Bl W$ a"ﬁ G %H‘iﬂ
2,005 B, Brais slowede, L RO | O wexsdo BT erade
What is the recommended minimum 'width of embankment' for existing 'B
.G. single line staright track' (in mm)?
Aiofal &l.oil. e dg= T Rge ¢ & g 3Rifta Had
dedd ®f disls ([ ) F1 g2
e93,3,:3¢) Bde3 129 .23. Aoney* e3,3° @9, 0363 6305F% (eDdeddE
B 13¢)) i d00A) BRient TOR, 563,08 eaned aed,?
Language Option A Option B Option C Option D Correct Answer
5300 6850 7850 4725 68350
Eng/Hindi/Kanna| 5300 6850 7850 4725 6850
5300 6850 7850 4725 6850
The best Possible treatment for formation trouble having bank erosion
is
d& Perd U gl drell 716 YU & [0 Yad 391 44 IUdR ¢
14 | 23950T° ARIDOTW NOEDME W0 3ROTWIN GVI e AOLVE,
Language Option A Option B OptionC Option D Correct Answer
ity of sl Provision of berm “Tuirfing o Klops All of the above All of the above
Eng/Hindi/Kanna|zm @ sadimi & 1 T el u efib EA ] UL & Wl
Wewn Aabiimy o DETE WENEDT | BPERDRD, Maron DS @eEe e eyEd




speed is relaxed after  days.

Hgaret Ufdr & &y 2o @t e whIf-F b HrEe H, W
afad el & a1e ge & andi gl
BRI TosBOTTIRODT BLOD e3Fa30E3 IoABOD AOWPZERE), DI

In case of deep screening of track with manual packing, the normal

15 | SO30 @moadons astNed AGONRAT),IE.
Language Option A Option B OptionC Option D Correct Answer
10 15 21 30 21
Eng/Hindi/Kanna| 10 15 21 30 21
10 15 21 30 21
Over packed sleepers near the rail joints may result into which
phenomena.
X SIS1 & ORI S @A H WiloR 3@ S 3 a1 geA[U gfed
[RCaI K
y Gy 2ZAON0EFNY WP A LBOTISH 3002IVID)TEDOT OB )35
RO ) RWTIT).
Language Option A Option B Option C Option D Correct Answer
High joint Low joint Pumping of joint None High joint
Eng/Hindi/Kanna| 5% T390 g SIS g a9} i e I
B3 25083 Ry 2063 BWowy shoriah] O e Eey, 28,3 25083
What is the maximum of limit 'creep' which can be permitted in rails?
¥ W I 3t o dim @ g2
BLNEYE) 930D IAWTWOE NOE, ')t eddS cdE,,?
17 Language Option A Option B OptionC Option D Correct Answer
100 120 150 200 150
Eng/Hindi/Kanna| 100 120 150 200 150
100 120 150 200 150
Galvanising of p.way fittings is done for
41 a fthfdn o1 Teg-mgfon fauds ferg faar siar g2
18 | 2.3 DES O N BAOTY 9D, BRI .
Language Option A Option B Option C Option D Correct Answer
MS Liners Platescrews all the above all the above
Eng/Hindi/Kanna| @1C8 argid wiewg _ ST SR il
oA S RAE S feae, neh ; 508D eve, DS oevn,




19

One of the Corrosion prevention measures adopted on indian railways

1s? ;

YR ¥ed TR 3{UFTC 1Y &R FaRor SR 7 4 U & 82

033¢0d 3;e3,006), 9PEBBACTDNTIE BI®), IBNENES FEDNFE), 2,0T3?.

Language Option A Option B OptionC OptionD Correct Answer

AC painting all the above all the above

Galvansing of fmings _ -
Eng/Hindi/Kanna it dfen Fipferes 2 fres Ul g+l IRia el
AC @totdon D ey, DT e,

20

Maximum degree of curve permitted for BGis = Degrees.

dt St & fore orgrd o @t siftmar it &3 gl
BG 1} 9300 3AEE 370300 Ndes, @Bt3ed)  BNNDD.

Language Option A Option B Option C Option D Correct Answer
8 10 12 14 10
Eng/Hindi/Kanna| 8 10 12 14 10
8 10 12 14 10

21

What 1s the degree of a curve with radius of 440 metres?

22

440 Hiex Bregr ardt asb 31 (S 1 62
440 eDCEI0E 8j2s5 DBRORNTIES a3 TCCBOD TaTy edadd,?
Language Option A Option B Option C OptionD Correct Answer
3 - 5 -
Eng/Hindi/Kanna| 3 -+ 5 4
3 - 5 6 4
What 1s the degree of a curve with radius of 580 metres?
580 Hiex Asar ardt awb &t f$dt g2
580 cNEEIT iz BAODTIE [FHTCBOD BN dT,,?
Language Option A Option B OptionC Option D Correct Answer
1 7 3
Eng/Hindi/Kanna| 1 3 5 7 3
1 3 5 7 3




23

called?

If one LH curve is followed by a RH curve, the two curves will be

4fe U LH 9 & §1¢ Udh RH b 31Tdl ©, dl &l dspl @l a1 gl

Sl[al?
2,003 LH a333¢a303) S033 2,063) RH 333683 200333, €3 3 &3
NI FBAEMII?
Language Option A Option B Option C Option D Correct Answer
Reverse Curve Compound curve i Mokl ciies Slll‘l]JlE curve Reverse Curve
Eng/Hindi/Kanna| & e e el ab e o
Soato,w sigds Moobys Swdue sl mdmec e AOY S0t dowho,a addciad

24

As per the new track tolerances, what is the limit for standard

deviation value for "Uneveness' for speed upto 100 kmph?

U o eTRiieral & SR, 100 fbe ufd T2 aw ot 1fd & fere

\SRHFAr od HH® fade-1 e & A &1 g2

BRA 639)5T° Ao, SN &850, 100 3O SBNS 31T, LIRS
MoN @3R3 DB a2, 0008 dEI,?

Language Option A Option B Option C Option D Correct Answer
0 mm 1 mm 2 mm 10 mm 2 mm
Eng/Hindi/Kanna 0 7l 1 fodt 2 fiedt 10 frit 2 fosdi
0 e).eDE. 1 eD.addC. 2 oJ3.e0¢. 10 63:633€, 2 e.edE.
What is the limit for variation in the value of versine between two
points on a curve for speed below 110 kmph but more than 50 kmph?
110 fopuft Ui e 3 Hu difds 50 feit ufd € 3 it &1 71fd &
fere v awp R Q) figafl & dta axarga & ar # uRada 3t S
G
110 3eddC / IO NOI TEda 3633 50 B / IO NOI W23, XN,
% | BTBeBOD DTTB LOBIMNY IBIIS SWAE D STPOBE) S 3353057
D), ?
Language Option A Option B Option C OptionD Correct Answer
10 15 40 15
Eng/Hindi/Kanna| 0 10 15 40 15
10 15 40 15




For a curve with 'degree' equal to 1, what will be the maximum value

of versine (in mm)?

| & SRR TSHUI ard a9 & 1Y, a1 &1 SffUdad A (T H)

1B

‘BT 1 B, ReJ593e303 a3FHBBN, 3AE TS MO, a352€5 (eddedC

21 3€)) @y,?
Language Option A Option B Option C Option D Correct Answer
10 15 28 30 28
Eng/Hindi/Kanna| 10 15 28 30 28
10 15 28 30 28
How many number of sleepers are there ina 'l in 16 PSC Turnout'?
16 Gl efaimae § 11 8 fbd &R gld g2
'16 3€), 1 PSC eH3mo'RBE). eddd), B083503 ALRT NS BBYTT?
27 Language Option A Option B OptionC Option D Correct Answer
101 111 114 109 114
Eng/Hindi/Kanna| 101 111 114 109 114
101 111 114 109 114
What 1s the limit for clearance between the 'bottom of stock rail and
top of stretcer bar'?
LD I P (ae HIAT SR Wak R & M & ot Forit ot
i @ g2
28 ['A9,5° GO TELIN DI, A,E3 O° LTS a1LIR,N'E STWIIS e«
e 3 DRI,?
Language Option A OptionB Option C OptionD Correct Answer
0.5 to 2 mm .5 to 2 mm Swimm 2to 3 mm 5to 5 mm
Eng/Hindi/Kannalos @2l :.N'hﬁnﬁ t.ﬂ‘f.’-fﬂlﬂ 1;313113!111 :.S'G_iﬁml
0.5 POt 2 edrelat on9t DO & edyadof 1.5 DO 5 alaedol. 28063 3 edd.eddt. 1.5 Bocd § olh.edat.
In PSC layout just after heel of switch at sleeper no 21 to 27 in |
in 12 turnout with 52 kg rail —-—----- liners to be used
dioerf dsise # WioR I3 21 W 27 d@ a9 31 Ut & did dlg
12 THaM13¢ H 52 [HAMH YA & Y -evevev KSR R
29 2
fpar ST B |
PSC eXREFI), ALT0* H035 21 DOTS 27 BRPINS RS do
S033 12 HITITE), 52 Ted Byedd ------- SV NFI, W7
Language Correct Answer




What 1s the limit for 'vertical wear' for a '60 kg Tongue rail' ?
'60 b 21 e & fog afdea fagr @t S g2
'60 T23 E30TT Ty 1} '© 0 GUTIN' D3 dE),,?

30 Language Option A Option B Option C OptionD Correct Answer
8mm 10mm 12mm 13mm 8mm
Eng/Hindi/Kanna| 8 TP/ 10 fiyef) 12fipft 13 fondt 8 oyt
8eD).ed0C Wk, }220.035¢ 1320.e0¢ 8e0.eJ0¢
What is the 'service life' of a '60 Kg Fabricated switch (ORS)'?
'60 b elaTH Bisiches [ (SMISIRTH) PI al Siia- &l g2
'60 T2 o) BCEITE® A 23° (ORS)' &3 'Akade 226a33! evad),,?
31 Language Option A Option B Option C Option D Correct Answer
200 250 300 400 300
Eng/Hindi/Kanna| 200 250 300 400 300
200 250 300 400 300
What 1s the 'service life' of a '52 Kg Thick web switch'?
's2 fb@am Hie 94 &= &1 a1 Sl &1 g2
'52 T2 Wad,, a32d° ALY & 'AleoD e’ e, ?
32 Language Option A OptionB OptionC OptionD Correct Answer
300 500 800 1000 500
Eng/Hindi/Kanna| 300 500 800 1000 500
300 500 800 1000 500

33

What is the 'service life' of a '52 Kg CMS crossing' after carrying
out reconditioning with '"H3B IRS electrode'?

'H3B IRS Faac s’ & A Adbs A S & |1g '52 [aam cMs
IR T T Stia T 82

FYAOTE' 3 A0 23033 &I, ?

'H3B IRS 03T, G 0NN BEFORBDONT ol S033 '52 Kg C

Language Option A Option B OptionC Option D Correct Answer
100 300 500 800 300
Eng/Hindi/Kanna| 100 300 500 800 300
100 300 500 800 300




What 1s the service life of a '"GFN-66 liner'?

'GEN-66 dll3-1X' 1 Jd] Siidd &1 g2
'GFN-66 €3,;30% & Aledo 23Cedc eded),,?
Language Option A Option B Option C OptionD Correct Answer
2 years 4 years 6 years 8 years 4 years
Eng/Hindi/Kanna| 2 ¥T¢l 4ay 6 el g ay 44
2 a3adErish 4 SJ@Ensh 6 SBAENTH 8 sdade e 4 Jaerieh

A low-speed track section distinct from a running line or through
route such as a mainline or branch line is called as -

U HH T adl < WS Sl [l -7 @1 g1 5 ars- a1 2ral
dig S8 HIT @ 37e gl €, doidl ¢l

FOT0NE) B3 s0NEDOT 90 a5 ONE E9Peve TV aRNE C30IH aONE
BDROT T 00N BIES FERD-NE 630)5T¢ I2TDNEID), 0T FTTONERMI .

Language Option A Option B Option C Option D Correct Answer
Sidin;'g Loop line St fing ek S Sldu:l[i_!
Eng/Hindi/Kanna| I2(S1 q g difénada s R
ﬁg;&"JOﬁ‘ OPT e3¢ oo Su° FAdwrie meen 7‘\1‘,&90??‘

What is the the permissible speed on 'l in 8.5 curved OR switch'?
'8.5 oo AR Rag H 11 IR 307 71fa 341 g2
'8.5 3¢)_ 1 230NE @0 ALF I 9T IR a3t cdE,?

Language Option A Option B OptionC Option D Correct Answer
15kmph, 25kmph 30kmph 40kmph 15kmph,
Eng/Hindi/Kanna| 1sf# #fd sier, 25 feselt ufey sy 3ofdH] ufa ger ofaeit uta we 1 st wfd He,
roédr 15 4.k roédrf 25 3.0 noédn 30 &..000. Ro&Int 40 & ..3¢. roédn 15 4.0

What is the the permissible speed on 'l in 8.5 curved thick web

switch'? .

'8.5 dfdha Hicl ddl [ 1 o srgHy i @& 82

'8.5 3€)_ 1 23NE B, 3323° A3 I€)_ 930D 3REINT 30T &R, ?

Language Option A Option B Option C OptionD Correct Answer
15kmph, 25kmph 30kmph 40kmph 30kmph
Eng/Hindi/Kanna| 15ff ufd ser, 25 feedt ufty wen sofdpfl ufa €er aofaeft ufa et sofat ufe ger
noédn 15 3.8, Moé3n 25 3.0 roéin 30 8..00€. rioédr 40 &..0¢. roé3r 30 3..J3¢.

What is the permissible speed on 'l in 12 curved thick web switch'?
134 12 oo 4 99 Rga R sgra fa s g2
'1 3€)_ 12 NG B, a32)° A2F 3. 93003 RIS o371 ), ?

Language Option A Option B Option C Option D Correct Answer
15kmph. 25kmph 30kmph 50 kmph 50 kmph
Eng/Hindi/Kanna| 15f ufd ser, 25 faredi wid e 3ofdet ufdy de s0 fiedl ufy e so faredl ufdy der
o 15 8.8, To&T 25 #.030C. Toé&3n 30 §..0t. noédn 50 3..23¢. roédn 50 ...
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What is the diameter for a electrode for doing 'reconditioning of a

crossing'?

SPIRIT D] DS IR B B [OT FaaeIs T A [dbaT gial
87

'TYAOTFS DETOBTBOTYF' Z35TICN) eITIISTIV TS 3005A dTR,,?

Language Option A Option B Option C OptionD Correct Answer
| mm 2 mm 3 mm 4 mm 4mm
Eng/Hindi/Kanna| ! fa#t 2 fodi 3 fopdt 4 fipft 4 fipft
1 edd.e3¢. 2 e.eddC. 3 od3.e03¢. 4 033.e0€. 4 ed.ed3C.
The packing of electrode should be absolutely intact and all
electrodes are consumed ------- after opening of packing during
reconditioning of P&C
ST TR S TRC T T o e e
St & R Ui @i & arg 9 saaeis —mam- qud
HEIGE]
| e380, LT85 RsBONT RAOGDPEDE 30N Tt FOLED D3, & & A
DCTORBON AeDONTE), WOsBOTT 3V 03T €39, D3 T@,L
-------- AedBIDTHZ .
Language Option A Option B Option C Option D Correct Answer
4Hours SHours 6Hours 8Hours GHours
Eng/Hindi/Kanna| 49¢ 5 He 6T SHE 65
4 roédnsh 5 noé3nsh 6 noéinsh 8 noédrieh 6 rioéinsh
In case of CMS crossing welding cycle should be short i.e. not more
than --«—————— Minute at a time
ﬁwﬁﬂaﬁnmﬁﬁ%%ﬂw@aﬁmﬂﬁthqﬂ?
[ & P— fir1e @ siftre =181 gl anfgul
CMS T0é32)30D ROBZERE), 33D, O1F RyTe> 23T,000N3e3 €9
4 [ DD, e QeDBRPNOIZ 3323,8230003.
Language Option A Option B Option C Option D Correct Answer
1 2 3 2
Eng/Hindi/Kanna| 1 2 3 2
1 2 3 4 2
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In-situ reconditioning of CMS Crossing by Translamatic Robotic

Welding, special core fluxed filler wire electrodes of

diameter is used ;

cigafed Adifed dfest gRI HeATy IR $ 31-3le

Qb SIAFRTH 15 Gl R & faAY DR e fther arR

gdacIS BT IUANT fbar Sl B |

39)0%3053005835¢ BBRE3T® B O sHREIT CMS FTYAOTFS & Fw3e3 ¢
EDTITOAO BN, FOHE LDBCR TRCT &3.55., DE.0° 33,0°
AT IONT R, WERPDMI .

Language Option A OptionB Option C OptionD Correct Answer
1.2mm 1.4mm 1.6mm 4mm 1.6mm
Eng/Hindi/Kanna| 1.2 ot 1.4frt 1.6/ 4 fift 16Tt
1.2693.0¢ 1.4223.000¢ 1.63.eJ0¢ 400.200€. 1.6e30.a23€

43

What should be the gap at machined joint at 'SRJ' and 'Heel joint'

location?

THHRON 3R BId o8 I IR A S # faod=1 3idr gi-1 aifgw?
'SRT' 503, 'dote>* 0N 0EF A FBE). ODOIZE 20300€). TR,
€9030edT23B0?

Language Option A Option B Option C Option D Correct Answer
6mm. 4mm. 2mm. Zero Zero
Eng/Hindi/Kanna 6 ﬁ-ﬂ:ﬂ afyE. of it }{E:[ W
6e0).e)dC, 4e0,e€, 2e0).eDE. mss Ei.@ﬁg

44

Chord length for measuring lead curvature of a turn-out is

ei-a13e @1 dfie asbdr myA & foru oftar 1 dars o
EF-REFS AR 37300, IFAHEN & THE 033,

45

Language Option A Option B OptionC OptionD Correct Answer
3m 4m 6m 9m 6m
Eng/Hindi/Kanna 34 44t 6 9UH 6
3e0€ 4ed¢ 6eI3€ 9eJ¢ 6cI0¢
Which of the following is called as switch?
frafafad o 4 fea g oo g2
8 TENIDNYS), ORBI, ALF® Q0T T3 T3?

Language Option A Option B Option C Option D Correct Answer

Eng/Hindi/Kanna ff;
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Which of the definition of 'Casual renewal'?

3T [@d Fdiazor & gyt g § 3 o i g2

"TO;ZDODNEY Se)CTTEI'TS 205DV NF ) O30 T3)?

Language

Correct Answer

Eng/Hindi/Kanna I'(

Option A

Option B

Option C

OptionD

47

At what depth is the 'lateral wear' measured?

greffa ferara f TeTs uR A ST 82
'©03E30e5 T30 9y OIS BSFRR), FODHRMIE?
Language Option A Option B Option C Option D Correct Answer
1040 13mm 11 to 13mm 13 to 1 5mun 16mm 13 to 15mm
Eng/Hindi/Kanna| o4 126 119 13 fiwfl 139 15 firdl 1670t 133 15 fidl
10 D0 12 o030 11 DO 13 w000 13 Do 15,0030 o 13 DO 15 ols.003¢.
160)0.000¢

At what distance should the 'SEJ' be provided in approach of a girder
on which LWR/CWR is not permitted?

S ITSR @ ePDIUNH fbha-l gl UR "THRor WaT faa1 S
et o R tassegeiR/Alsseg 3R @1 siafd 78 82

LWR/CWR 930D 3R NRBE U AedXTT, 'SET €930, e, WOk

| ssnmesesy?
Language Option A Option B OptionC Option D Correct Answer
36m 30m 24m 12m 36m
Eng/Hindi/Kanna| 36 e 30 fiFre 24 1:I_Efﬁ 12ffe 36 fiFe
36e0€ 30eD3¢ 24e00¢ 12e0€ 36ed0€
What is the minimum stipulated depth of 'ballast cushion' after
completion of 'track renewal works'?
e AR BRI & R g1 S dla ‘ddRe HRA' B GAdH
Feffed mevrs fba- g2
'$39)5T° SeICTTED TOODETIS' BREIE PO S0I3T '2I05IAT, T
Y1 ARD3 e3¢ dRY,?
Language Option A Option B Option C Option D Correct Answer
200 300 350 400 300
Eng/Hindi/Kanna| 200 300 350 400 300
200 300 350 400 300




What is the minimum stipulated depth of 'ballast cushion' for all

'doubling work'?

i lgd®Rul BRI & oY SaRe PR B YAad Fuiid mers

1 6?

3 "D MLRRLRIE TOANLR 'DENLIDVE HJT* S Tadas, cINE

| daRy,?
Language Option A Option B Option C Option D Correct Answer
150 250 300 350 350
Eng/Hindi/Kanna| 150 250 300 350 350
150 250 300 350 350
The walking speed of a patrolman shall be
et Sl @ Fa= @t i g
51 | &Y, A2),0003 IEIRAR 336 .
Language Option A Option B OptionC Option D Correct Answer
3kmph Skmph 10kmph o <4 3kmph
Eng/]-[indi/](anna ’«ﬁﬁﬁﬂﬁ"{w ﬁﬁﬁﬂnﬂﬁm lﬂmaﬁm :-uTa.l-hl\é-'ia‘l 3%7;“ Uf?f'd_ﬂ
Rot3R 38,800, o83 5 8.2t Ro#3 108 o, T o3 3 3.e70¢.
During day time every Trolley, Motor Trolley or Lorry whe:
tunnels shall exhibit
{9 & Tg U elell, Alex el A1 @iNl &l el gl ¢
Y fRId A1 I
52 | RO KON, &33P0 E39)¢), a3CE300° €3
AVONNY ) Boavon WA A3,
Language Option A Option B Option C Option D Correct Answer
Gireen flag Red flag caution Indicator Red llght Red llghf
Eng/Hindi/Kanna| &0 %91 R o1 s e RIRE| NISEHI
AT 2RaHE Bo®) ;3.2 DT DT BAFT 30@ e ?an_-d) Bes
What is the Shape of a Speed restriction board?
fq ufdde 9IS &1 3HTHR Ha1 gldl g2
S QWEOT BT €3T00 BENTHI3 3?
53 Language Option A Option B OptionC Option D Correct Answer
square rectangle triangle round triangle
Eng/Hindi/Kanna aﬁ Sd ﬁaﬂm UK ﬁaﬁm
TOT es0h3 3BRLS A3, 3RS
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The safety radius at the time of testing of detonators is

AR & udteur & gHg gran Bsargidl @
B3E3RCICEITNY SWOCE O ADODTE), RITT I 3j2556)
Language Option A Option B Option C OptionD Correct Answer
10 mts 20 mts 45 mts 50 mts 50 mts
Eng/Hindi/Kanna| 10 FIeX 20 Hiex 45 tlex 50 7flex 50 Hiex
10 €. 20 eJ¢. 45 €. 50 . 50 €.

55

For intermediate tracks on triple or multiple lines, engineering
indicators shall be fixed between tracks to within ........ .. mm

from rail level :

feue a1 Aetud sl IR Hegad! geial & forT, Soffaia
Hbdad el S g @ TR . . it & iR aa feu
ST |

3By 90 B BWNEFNTYE).S &GF030 BLNDN, D022 DODNDOTF

RAITNT D, BORY SRBITS vt . By TEIEIOT ..oonss 8D 2T
2, ORePH .
Language Option A Option B Option C Option D Correct Answer
100 200 300 400 300
Eng/Hindi/Kanna| 100 200 300 400 300
100 200 300 400 300

56

When gateman notices parted train during night he shall

Sid el &I I & Y Mol & (T g &1 Ydl Feidl ¢ dl 39 ..
009 B¢ By LT €3,80e9) B, THEEF*e0500° MDA €5

Language Option A Option B Option C Option D

Correct Answer

Eng/Hindi/Kanna=

Before starting a Material train from station, the Guard should

ensure that

WA Y ARG ¢ = B A Ugd TS I 98 G2 Hm
ElHES

De3_£aD0T €D B>, TYTOARIE 3RTIEN, NOTI'E
DI 3TBATRLZICD.

Language Option A Option B Option C Option D

Correct Answer

sufficient labour is availahle

E“g/Hindi/Ka“na vyt W e

meaaly, Feelsrach o0l

-




Points & Crossings lying on passenger running line are to be
inspected once in: .

gt e g W R discd SR SRk &1 e e §R

ERIEICIEHE
58 | @033 B),07F e3,TE) B33 s5oMI0EF NS eI, FYAOTFTS
25, BOACDRLICH: .
Language Option A Option B Option C Option D Correct Answer
2 mou_ths 3 months 6 months nan 3 months
Eng/Hindi/Kanna| 2 FeH 3 HeH 6 el gl 3HEH
2 Bonshrish 3 3onishrish 6 Sortshrieh TN 3 3onshrish

What 1s a standard length for measuring 'Unevenness' on a long chord?
fapdt ol S1RY UR SRIHTAT HIUH o feT Wi cralg ol 67
2,063) SBR[ A BRBAF T 30¢e3 'eoradis 3 eoFoden @eeess e

Language Option A Option B Option C OptionD Correct Answer
9 15 18 18
Eng/Hindi/Kanna| 6 15 18 18
9 15 18 18

What is a standard length for measuring 'Alignment' on a long chord?
Tl vl Sffar R U 41U & T G- s ol g2
2,003) OVESROD A Be3CHTS ate3 12a(EEs! e9FoDEN &3je30ed 38 en

60 Language Option A Option B OptionC Option D Correct Answer
15 18 15
Eng/Hindi/Kanna| 6 15 18 15
15 18 15
Frequency of OMS-2000 recording by OMS - 2000 on routes up to 110
kmph .
110 et wfd H¢ dep & AT TR SITHTH-2000 GRT THTH-2000
RepifS a1 amafl
61 | [10 3.eQC./M0E3[INS avanen$e). OMS Q)OT OMS-2000 BToEON®
€3533E S - 2000.
Language Option A Option B OptionC Option D Correct Answer
Ouce In-a mionths Once in 2 months Once in 6 months —— Once in 2 months




Which of the following data is generated by "TRC'?
fafeiad o @ &1 w1 e TRe' gR1 3dd a1 S 82
£ FTENS 003 T3E30e33), 'TRC' DO ST, DACMI T

62
Language Option A Option B Option C OptionD Correct Answer
—— — T— all !be above all the above
Eng/Hindi/Kanna|™® Mt STl ) T R e SRIa a+f Sl gl
A0S 3800 21 Pl s e, 43, Hoa, J=eyrteh RO e, SO e,
At what frequency should an 'ADEN' inspect all the cuttings in
his/her section
Ud 'TSICA DI 3G ST H ] DI &1 [ba-il aR FRI&0 S
Ell % a?
63 [ 'ADEN' 2,20, 83580300 33, 200N0e) BIes cyee,. T3 DA onnes,
DT, 200 DO ALIEH?
Language Option A OptionB OptionC OptionD Correct Answer
once a month once i Quarter once in 6 months once in a year once in a year
Eng/Hindi/Kanna| T/ # @@ a1 us famTel i o ar 6 e Jue aR Tt ¥ P @R i 7 uw AR
Jon®riesh, E P ERLE TR 6 doreiesh, SEEFRED. SEFEes,
At what frequency should an 'SSE/Pway/Incharge' inspect all the
tunnels in his/her section
TS TS d &l 319 Jaq d JH G &1 [ha-il dR
e S Anfew
64 | 'SSE/Pway/Incharge' 2,2),; 3353.03) 33, «)20NEE)BYa3 €30,
RToRATD, D), 333 IHE), TBOACDR23CE?
Language Option A Option B OptionC Option D Correct Answer
once a month once  Quarter once in 6 months once in a year once in a year
Eng/Hindi/Kanna| €14 1 0 aR s () 3 uw R (e a4 1 g ar atf 7 U AR
Sonwiiesd, I SimATERED, 6 donermsd, SREER,ED, AT A KA
At what frequency should an 'SSE/Pway/Incharge' inspect all the
tunnels in his/her section
UH U /MA/Sars B g e J @l I &1 feaft ar
fAteur e =g
65 | 'SSE/Pway/Incharge' 2,20, 353,030 33, eJ230Ne3¢) Bre3 ey,
RTVONAT I, DT, 3533 ITE), WO F236E?
Language Option A Option B Option C Option D Correct Answer
once a month once 1 Quarter once in 6 months once in a year once in a year
Eng/Hindi/Kanna| ¥ # t# ar b Rl 4 e R 6 HE ¥ U AR a1 U an a1 7 uh aR
donerimal, 3w AvEes, 6 dorPimad, SEF a0, SArdes,




At what frequency should an 'SSE/Pway/Incharge' inspect the 'Hot

weather patrolling’ in his section?

TS TS /I1a/5dTol I 39 SHRT H T A1H 1= &7 fba-

aR RIS ey

'SSE/Pway/Incharge' 2,23, 358,033 33, J2I0N3E) ')A Bedoadios
RRY 'ODT), W), e3BIEITE). TOICDRIC?

Language Option A Option B Option C Option D Correct Answer
once a month once s Quarter once in 6 months once in a year once @ month
Eng,/Hindi/Kanna| 71 7 0@ a1 um i A wp AR 6 Hel H v an ad 7 u A e | U AR
BonPiiesd, 3 e A v die,mh, 6 on®riesh, DRG0, Son?iead,

At what frequency should an 'SSE/Pway/Incharge’ inspect the 'Cold
weather patrolling’ in his section?

U "CHUHS/Aa/S drol 1 30 SR 1 i T 12a &1 fbd-ii

SR e dem =fen?

'SSE/Pway/Incharge’ 2,20, 353,030 33, eJonic) 'd¢3 Dedveeos
RRY,'0DT, AT, 3336 IWE), BON DA LICBH?

Language Option A Option B OptionC Option D Correct Answer
once a month once 8 Quarter once in 6 months once in a year once a month
Eng/Hindi/Kannal| #e- 7 4@ @ik s forsre] 7 uep & 6 el 3 U AR a7 @ an HEH H U AR
Soriwnesd, SusiATRRD, 6 JoriPriesh, SRFEE,, Soneresh,

SSE/P.Way should examine all the gang tools at least once in

Tquys/dt.d o @ 77 oo @t 1 A S U R Sid Sl dlfeu|
SSE/P.Way ed€39, MosON® &3DTONE),;, 20:e30,00038/ 03 7233

Language Option A Option B OptionC Option D Correct Answer
2 months 3 months 6 months 12 months 2 months
Eng/Hindi/Kanna| 2 el 3TRH 6 TeH 12 HEH >R
2 Borishnish 3 3orishrieh 6 donghrish 12 3ornishnish 2 dorighrieh

Average depth for ash pits in station yards, pits in running sheds

and carriage Examination pits.

PR TS 7 2 TS, R 9IS S o Rt AT

TSl B 3T RIS |

AEIDLITS LIONFTE) B3 2RO MOBNRY, B0 3rans
&I, FTos0(2* BWOCT, MOLNY ATARD e3¢,

Language Option A Option B Option C Option D Correct Answer
750mm 760 mm 770mm 780mm 760 mm
Eng/Hindi/Kanna| 750/l 760 foredt 770ftndt 780t 760 o)
750e00.e23¢ 760 ed.e2€. 770223.e00¢ 780e0).e00¢ 760 D). eI,




The Material at site of works whether in a Stores Depot or with a

department, should be verified by accounts Stock Verifiers every once

ina

DI A IR IR, 91 98 R f3ul # g1 ar faddt favm 4,

TRET Wi A i gRT GHI-GHY TR GAIUd & o1 g1fgu|

70 -
Foa0MD A PR Ba3 MEHNNFI, ARLAE BIPCEER) ) 93
B30 e N, &8 D0 We3NY Fo,T¢ FOSOTOOE TO(

Language Option A OptionB Option C Option D Correct Answer
12 Months 24 Months 36 Months 18 Months 12 Months
Eng/i—[jndi[]{anna lzﬂ—tﬂel 2498 36 q—(‘ﬁq lsnﬁ 12 Haﬂ
12 3oriehnieh 24 Sonehne 36 Aoriwhrish 18 3onshrish 12 Borighrish
Which of the following is used for returning material which cannot be
used? !
fFrafefad d ¥ foaer 3uul 39 e & ary @3- & fau fear
SITcll & [SrRIehT SUdivT gl dbdl il Yabdll 82
71 | WPROINE SALNFR, Co0DTINFEL B8 FENT O30T, WFAE
Language Option A Option B OptionC Option D Correct Answer
. Indent .
S e DS-8 ,\u‘le i DS-8 Note
Eng/Hindi/Kanna| e . Sfut-s e HITUA gl e
ek Ds-8 &3a,6d DS-8 b33
SR QOTB0E3* v
All P.way materials left over after completion of the work is termed
as :
S ¥ g1 & ale a1 g 9 4 3 anel &l sererdr g
72 | TOR BINE S0IT LOLDTIT 39 2.33¢ WRINF D, ot T30S
Language Option A Option B OptionC Option D Correct Answer
Revenue stores Ninkaetil =14 winees Surplus stores None of the above Surplus stores
Eng/l-[indi/](anna o HeR g 4 ) aifiigy Yar 90 g @S H el figm vian
eseadh sheonrneh A sontariv Sy a0 esoritrish St oleahre eey, | w0 eaoriBanish
TSC stands for ?
Augdl &1 Haae @1 g?
TSC 0BT ?
73
Language Option A Option B OptionC Option D Correct Answer
Trnck Standards Commuee Imack Solution Committee Tenin Standosds Commines None Track Standards Commmes
Eng/Hindi/Kanna|:® @ afif e A w apn wiifa CARE T o e afiy
5T Thiaahal, Helsd t3ay, T AREER Felt] ryen rnahdl, medod iy, ® rbmshid, Hedod

alesdhiie |ey,




G & SR Stands for
il 3R TH3{R &1 Jddd .
22 & DAESD® 0T .

74
Language Option A Option B Option C OptionD Correct Answer
o Greneral and Subsidary Rules Chenerul and Subeidary Bequlations NU“_“ Greneal | and Subsidary Rules
Eng/Hindi/Kanna|™ e i Eg F F— Fig el ST S e B
Wl ) maadsaid; sy, Almacive Sobia] Eass ahily el alirieh r.li)a@(dm gey mimediedy sy dammode doday
MPLADS is
75 | MPLADS 0T30.

Language

Option A

OptionB

Option D

Correct Answer

ey

Eng/Hindi/Kannal /==~

None
Flg el

ciwadcde ey,

76

year .

Railway Servant is entitled for credit of

days of LAP in a

Yod FHARI Ud a8 | taudl & i & hige & ol ghar ol
3,63, ASBO) 2,06 BREBE). LAP DING Ft263°7% 9B ToNG.

Language Option A Option B Option C Option D Correct Answer
15 30 25 60 30
Eng/Hindi/Kanna| 15 30 25 60 30
13 30 25 60 30
Leave on average pay is credited in advance in 2 instalments of 15
days each on the first day of and every calendar year.
3 I W ATHI UAP pas 98 dwm e s s a
fapeal o 1w =u d 5w foban S g |
7 | Boomd Oa s3e3Ta3, B3 Tos30BT* FRET BRBO BT
FOINYE) 00023 3N 25630 sVBEDMI .
Language Option A Option B OptionC Option D Correct Answer
Ist Jan/1 st July — _—— — Ist Jan/l st July
Eng/Hindi/Kanna| ! SFadli1 g 1 | Rl 2114 3 LHAETE' e 1 el g
20 leoey 1 [weT 1 1esont ] o e, Lo, 5 2RO 1/esdel, 1
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The amount of leave on half average pay that can be availed of in one

spell shall be limited to .

D Ay § off 51 g ardl s siad da- R gl @ A diffd

gl
2,053 €953 OE) . BBODWTIEIE IRE ATAD 3¢ IIW FBAD &

AeNI3NTI 3.
Language Option A Option B Option C Option D Correct Answer
20 months 24 months 36 months 90 months 24 months
Eng‘f]-[indi/](anna zﬂm 24 Hig 36 n(fll:{ %q_ﬁﬂﬁ 24 {8
20 3onshrish 24 Soniehneh 36 3on=hnsh 90 orishrish 24 Sonshrish

79

A female Government servant with less than 02 children may be granted
maternity leave for

02 A & d=d| dicll Hfgdl IRHRT HHAR! B ATId AIHI UaH

fopan o wdan ¢ |

02 3,03 Tt DT,P T 0o we ATOE D S°TTON & TENISNPnof
DO 028 AALEBTBIRD:

Language Option A Option B Option C Option D Correct Answer
100 135 180 160 180
Eng/Hindi/Kanna| 100 135 180 160 180
100 135 180 160 180

which of the following is empowered to classify the employment of a

Railway Servant.

Frafafad # @ $19 Yed sHardl & AR ) giffed s &
fere gyad gl
3,63, AETTT VB RLTTE0, BNCETOREN T8 THPNTINFE). 030

80
BRHODRI?
Language Option A Option B Option C Option D Correct Answer
DRM General Manager UPSC SrDPO Genernl Manager
Eng/Hindi/Kanna| DRM | HE effeerd i drflan HETE
&UU‘@O e alaimemad Cm.)c?)c;)ﬁ‘l?\l Aedoho® Badie. TR el ma Eim ey
Within how many days Compensatory Off can be sanctioned?
HiquR® Sadr faodH fe=1 & ofieR Wiea b s wdar g2
g1 | OO0 B 0D, AT, DINFE), &0V e30TBIITI)?
Language Option A Option B OptionC Option D Correct Answer
30 days 60 days 45 days no limit 30 days
Eng/Hindi/Kanna| 30 & 60 f& 45feA 1S aftar el 30 fa=
30 DS 60 BTnsh 45 DITISH DI, 30 DYIrieh
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What is the weekly hours of duty of the Railway servants other than
Gateman ' C' Caretaker of Rest Houses, Chowkidar, Saloon Attendant,
who have not been given Railway accommodation and their residence is
1 .0 Km away from the place of work?
et <8, A8 el & BIReHR, FR, Ae o de b
ST 37 o DAL B ST b Al b T,
fSrg YeTd 1A el feam T g 3R 31 (9| &1 Rie 4 1.0
P g 82
i¢é3°adeso® ‘A BAS BANY TOE(TU?, L3 3La0%, AW e963030E3°
BRTIBRA), Gy, 373 BN, eI, €930 DedoRe)) TOAR A.FDOT 1
0 3..00¢ BPTBE).3, BIT G;03, SPTFOB) 63006 FIE 63563 AeDOD edeR),?

Language Option A Option B Option C Option D Correct Answer
60 Hrs 45 Hrs 72 Hrs 54 Hrs 60 Hrs
Eng/Hindi/Kanna 60 9 45¥e 726 54 He 60 ®¢
60 noé3rish 45 roédrish 72 no&dnsh 54 fioédrsh 60 roé3rish

83

Which form is used for nomination of Inquiry Officer?

Siie BRI B AHiB & for [y wid &1 IuaT i sirdar g2
)T LODTIDOD VoD EBVT, O3 SeDAIANY, W

Language Option A Option B Option C Option D Correct Answer
SE-5 SF-7 SF-1 SF-2 SF-7
Eng/Hindi/Kanna| S3E%-5 -7 ERLE | QY U -2 THUH-7
DA -5 A R -7 AT -1 DAY -2 A e’ -7

84

The appeal against an order of the Disciplinary Authority can be

preferred by the Appellant in his

ST WISl & 3Rl & fave sidid sidiaadl gri
RITeR J i ol dabdl g
O, DYPTOOE e3THBT )T, NI Fed AE)REN 23

Language Option A Option B OptionC Option D Correct Answer
5 GM GM
W IAnE. Disciplinary Authority. Appellate Authority
Eng/Hindi/Kanna| 391 141 SR A ardtefta wfier) Gﬂ'QT{ G“QI]
5,03 BH. 8y wabwd. ahterSed maBvad
20O 2200




87

Rule 25 of the RS(D&A) Rules deal with which of the following matter?

RTH(SITSY) Fan &1 fam 25 Fafotaa 1 3 g v 3 Sefia

e3TRA® (B & ) ONTINE DO 25 BB FTENS O30S dTWODTF, AO!

85
Language Option A Option B Option C Option D Correct Answer
Review. Appeal Revision. Witness Revision.
Eng/Hindi/Kanna| STHI&T| fdeq ATRICE a8 GrevA|
e, TS ) 0, 053. Aoy, =R, 0.
If the "charge' on eomployees is for unauthorized absence from
duty, which of the following can be used as a proof?
gfe; ot ARl R ST A SFEINDT = I SR 51 T
"R AT T B, |l Fgfafaa § 9 fhasl ged & =g i
SEHTS ol ST Hevdll o7
86
NOT0T &3 "B, 'e)) TIE 35T, OV TI My;CITDe%OMON SNE.T, S5
TENS ABRE)ETBY E)00ESC3IN WFALITII?
Language Option A Option B OptionC Option D Correct Answer
Autendnnce Register Medical Certificate Co- El]’l[)ln_\:’el? None Attendance Register
Eng/Hindi/Kanna| 73 e fafeatta wwpora TE-HHARI BIg T8l iy e
ool detose i atob asieesid - e h OIEHE He, weested Aetomed
Dispute between workmen and workmen which is connected with the
employment or non-employment is called--------
BRI Hﬁlﬂﬁ%ﬁﬂﬁaﬁﬁﬂﬁwmﬁ? RISATR & SST
NVBRLT 9P NBIBRLNT, RMOLORDAT TONETD) DB, TOeNF T3 SIS
87
e)OT IR ~-------- DOT FOCDEMMIR.
Language Option A Option B Option C Option D Correct Answer
Industnal Dispute Personal Dispute Trade Union dispute All Industrial Dispute
Eng/Hindi/Kannal ¥l fam afaT faar s g far ot aftefifits e
b Jaed o8 DR 83teE obhedobar Cawd] De); Qfa SEBED S0
Labour Courts are established under the
$H ATl B ITIA] @ dgd @I oirdl ©
1q | TRENET 90350, 9% 0DE).
o AN
Language Option A Option B Option C Option D Correct Answer
D Act, 1947 PD Act Trade Umion Act, 1926 All 1D Act, 1947
Eng/Hindi/Kanna| 81 s, 1947 &t sfifam g e o, 1926 gl o) il 1947
o vandy. 1947 A ﬁ_ﬂfﬁ')c fite chusdiaha exed, 1926 3 Omm s waok,, 1947




In the case of any industrial establishment in which 100 or more

workmen are employed on any day in the preceding 12 months, the
appropriate Government. may by general or special order require the
employer to constitute a

Tt afieifie uias™ & A 4, SR o 12 79gH

faalt oft fa1 100 a1 SifF FHIR SR €, S9fad ReR I AT
fa=IY e GRT TSI 1 U i G116 Tod HIA i ATaLaehdl
R TPl ¢l

91 08 12 8on¥e). a3Ra)Et DIEORD 100 PP 93,03 B, TONETT
FTOR 3908323 B3 A3R)RE Tyodve A0m 0D AORIERE)., AT, ATOF Ca))
MO IR IFE BRI E RROT NBRLNDIDOE 2,060
Language Option A Option B Option C Option D Correct Answer
Works Committes 1 l’lbl]]:lal Arbitrators Works Committee
Eng/Hindi/Kanna| #f 9ffd F’gﬁ‘flﬂ el @ afifd
FROWF Aalod K)Eﬁ(ﬁ)&i}@ﬁé‘?? eﬁ)@sﬁmﬂaddl goohr Melad
Staff Benefit Fund (SBF) works for the benefit of---—--mmmnx Railway
Employees. :
SRt ey (A (aeien) Yad SHaiRal & ar & e snr exdl
gl
90 | AZL0B 5023 A (SBF) —--—--———-- 3383, I°FO0 Wb ez Te,N
TOODF DTSF AT, .
Language Option A Option B Option C OptionD Correct Answer
Guzetiod, Non Gazetied Tracs Girions All the above Non Gazetted
Eng/Hindi/Kanna| T SR g8 i Suiad gt SRISTEAd
Ay Ssamesan. o ee s FoehEd SoRrsh e e, RE&E e E
The maximum amount of Pension that can be commuted is
U3 @1 siftihad A =il gfkafda &t 51 aabdi g
91 | WO IE AWTBICOES NOW, DHOLFED 2303,
Language Option A Option B OptionC Option D Correct Answer
30 % of pension 40 % of pension 20 % of pension 50 % of pension 40 % of pension
Eng/Hindi/Kanna| T @1 30% g @1 40% U 1 20% U @1 50% TR T 40%
Ao 30% Aoedod 40% AoFedad 20% Aol 500 doFedod 40%




The no. of privilege passes eligible for a Rly.Employee having three

and a half years of .. service is sets.

Hﬁfﬂqaﬁaﬁ%mmﬁiaawaﬁmqﬁﬁmw
urd &1 g FefRa g
SRTHEIE BRENY A30H, BAODTIES Bye3, eVBoLNA e933¢

92
RO REFNPONI.
Language Option A Option B Option C Option D Correct Answer
I set 2 sets 3 sets 4 sets I set
Eng/Hindi/Kanna| 1 e 23 3 ¥y 492 1 ¥¢
-t
1 263 2 AéFneh 3 REs e 4 AN | D3¢
If both Wife & Husband are employed in Railways, who if eligible for
privelage pass?
DI UH IR
93 [ B3 DI, B3, YW,BL B30 BRLNEE) .8, 0300 Bjgale
OAT B/E TN O?
Language Option A Option B Option C Option D Correct Answer
only one is eligible any one is eligible all PTO eligible any one is eligible
Eng/Hindi/Kanna| %4 o & ua & wig i wa g it didai o &gl um e
2,00 slnd dalrch | abeoemde wsFch @em PTO emecy | Clwteide eHE Tt
Which of the following person is not allowed to be engaged as defence
counsel? .
Fufefaa o A foa safdd o 9ard ug & 9ota & &9 A g
D DI a1 82
| 88 NS aees a358,003), BT AOTBMOCTDN SCeATO Y,
e9RRD 3BT ? .
Language Option A Option B Option C Option D Correct Answer
A A retired Rly. Emploves A legal petitioner A trade wnion official A legal petitioner
Eng/Hindi/Kanna g g tad gl U i i e & gf gabEr e el e
rated cded, mociagh sarlaal eaeF madch b, BAelF ¥ Moahs eheed|waces esRrmeody
Which penalty does not effect for promotion?
P11 U8 Yelafa & ferg wardt i 82
95 o
BN oS WO 93 AFIHDE) ?
Language Option A Option B Option C OptionD Correct Answer
Stoppuge of pes/ T Reduction in post Dismissed from service none Sioppags of prsPTON
Eng/Hindi/Kanna|m sz e H g Ha 4 i 1S il
amarrishdilnris denric fﬁhdnoj)f'jn hd Aredcnd alwarbaddemnc aiwade gey.




Channapatna a place in Ramnagara district of Karnataka is famous for
FH-icd & IR R1a &1 TP ®IH 9ade & fog ulis @
FTOOEEITES UoadSNT 23e3 O 233,5383,60e)) AT 200N

96 Language Option A Option B Option C OptionD Correct Answer
Silk Sandalwood Toys Agarbatti Toys
Eng/Hindi/Kanna EEie LT faam SRET faa
Seas,, ytriogs esé3Brish esnioend, esé3enieh
What is the station code for 'Hassan railway station'?
BH eld W B DIS I 82
'THOAT By DEID_£0'E3 A, LR TR OI?
97 Language Option A OptionB OptionC Option D Correct Answer
HAN e - HAS HAS
Eng/Hindi/Kanna| €1 QuyHEA T % %'
ma“ R IAT AT eI EF e A% o)’ ’ad (QCS
What 1s the station code for 'Sakleshpur railway station'?
IR YA WA DI LA DS F1 52
'AETEXTDO G0 )0, £0'R A LA TR r3d?
98
Language Option A Option B OptionC OptionD Correct Answer
SKLR SLPR SKPR SAKP SKIR
DA E e eT* ALY EIT* DD e3¢ ..., DT eI
What 1s the full form of "TRD'?
HSRe &1 gvf =9 71 8?
% '63e30°8' O PLE BRE 23)?
Language Option A Option B Option C Option D Correct Answer
Traction distribution Traction disturbance Total milway damage Today raitway damage Traction distribution
Eng/Hindi/Kanna| " e atful g e el verd & 3 30T ebl b A e
OFE JdA0E QYA esrdedE wbdy, G,e3, o) oG 0,03, ) Q¥ oJdo
Who is the current Home Minister of India
YRA & gdqH I8 dAl i
239030 A3 My® A2de38) O35eB)?
100
Language Option A Option B OptionC Option D Correct Answer
Narendra Modi Om Birla Amit Shah Rajnath Singh Amit Shah
Eng/]-[indi/l{anna g Hidl Shilﬁﬂﬁl alliﬁl Pl ol "'—lﬁﬁ; ‘Hﬁam
Sotodd) et 2,0 2DeDE 9o )T T Ooz0° A0 €9e )3 T




When were the official language rules were formed

mmﬁuﬁaﬁaﬂﬁﬂﬂ?

1! Language Option A Option B Option C OptionD Correct Answer
1947 1956 1963 1976 1976
e Y 1956 1963 1976 1976
What 1s the Official Language of Union of India?
YR 49 ] SAfBIRS HINT RI1 g2
e Language Option A Option B Option C Option D Correct Answer
e o fer e e
How many sections are there in the Official Language Act 1963. as
amended 1n the year 1967?
| T 1967 FEfRIT AoreTST Sifeifran 1963 H et 4RIy B2
Language Option A Option B Option C Option D Correct Answer
8 Sections 9 Sections 10 Sections 11 Sections 9 Sections
Eng/Hindi/ K188} ; sy 9 JHI 10 SHHRT 11 SFJHRT 9 SFHTT
When is “Hindi Day” celebrated every year?
e N R feaw wa g Srar 82
104 Language Option A Option B Option C Option D Correct Answer
14th September 14th October 14th April 14th January 14th September
Eng/Hindi/Kanna| |, frame 14 TR 14 30 14 S8 14 R
According to Official Languages Rules, Tamilnadu falls under which
region?
RISTHIYT (e & SR, affianrg fa & & siarfa siiar g2
e Language Option A Option B OptionC Option D Correct Answer
Region ‘C’ Region ‘B’ Region ‘A’ S bR Region ‘C’
Eng/Hindi/Kanna éﬂﬂ "iﬂ' aa 'Eﬂ‘ & G S i1 ﬁ}ﬁl '?—ﬂ'
Dadar and Nagar Haveli and Daman & Diu comes under:
alaX SR AR gdefl aul e SR dla fufaRad 7 sid ¢
106 Language Option A Option B Option C Option D Correct Answer
Region “A’ Region ‘B’ Region ‘'C’ Wi gl i Region ‘B’

Eng/Hindi/Kanna

OPRY

a

A

BCEEI |

&= i




Who is the Chairman of the Divisional Official Language

Implementation Committee?

107 | YR ASTHNT Braf-ag- G & siegef dH g2
Language Option A Option B Option C OptionD Correct Answer
Eng/Hindi/Kannaliwmmmmn [ woewmean [t oo won [fosasr

Who is the Chairman of the Town Official Language Implementation
Committee functioning in Hubballi City?

gaal 2R H SRRG AR ASHINT Sraf-ag- afifa & sieae o1

108 =
82
Language Option A Option B Option D Correct Answer
. . Cemral Mamper of S s Greneral Munuger of BSNL Commussioner of Income Tax
El'lgf Hin dl/Ka nna mzﬂrrllh’l’ -1:\'-1-rrrs i Ellsizi ﬁf::;‘m’dv{ﬁ IR M

What is the periodicity for the reconstitution of Official

Language Implementation Committees constituted at Stations/Offices?

R prEE J 1féd Ao SrE-ags Sttt & gied

1% 5t frafdiehd &1 82
Language Option A Option B OptionC Option D Correct Answer
- Onece in Two years Once a year Onge in Three yearss Once in four yesrs Ongce in Three years
Eng/Hindi/Kannal & e of g an @ T 7 Uh A et et ¥ o ae TR AT H U AR el e # AR
What is the target fixed in Annual Programme for writing noting in
Hindi?
aiftfes prdermt 3 {7 Hie e &1 cie o w1 1T 82
110
Language Option A Option B Option C Option D Correct Answer
0.1 0.2 0.3 0.35 0.3
Eng/Hindi/Kanna
0.1 0.2 0.3 0.35 0.3




